Answer ALL questions.

Write your answers in the spaces provided.

You must write down all the stages in your working.

Simplify e+tet+tetete

3
Write Z as a decimal.

(Total for Question 2 is 1 mark)

Change 60 millimetres into centimetres.

lw = IOmm
Bc_m < éOmm

1. mark. . . 6 .................. centimetres 5

(Total for Question 3 is 1 mark)

Write down a multiple of 8 that is between 25 and 35

8 16 24 32 4O
v

1 mark 232

(Total for Question 4 is 1 mark)

Angle A4 is 53°

What type of angle is angle A?

1 mark Acote

(Total for Question 5 is 1 mark)
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6 Samina works in a shop that sells pens.

The table shows the number of blue pens and the number of red pens Samina sold in
each of three months.

Month Blue pens | Red pens
April 33 20
May 40 14
June 27 15

(a) Work out the total number of blue pens and red pens Samina sold in June.

27 ¢ 1S

1)
Samina says,
“In these three months, in total, I sold more than twice as many blue pens as red pens.”
(b) Is Samina correct?
You must show how you get your answer.
Bue #23¢u0+¢27 = OO
1 mark for either of these 1 Q“?L_;k 1;or
oth o
ReD (920"”4’{"5 = 49 these
dx red = L[.Clxl = Q8
Samna. 1s comeck 100 > A8
Final mark (WITH supporting figures)
3)
/ (Total for Question 6 is 4 marks)
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7 There are only 10p coins, 20p coins, 50p coins and £1 coins in a bag.

The bar chart shows information about the number of 10p coins and the number of
20p coins in the bag.

14

12

10

o0

Number
of coins

10p 20p
Coin
There are eight 50p coins in the bag.
There are three £1 coins in the bag.

(a) Use this information to complete the bar chart.

(2)

(b) Show that the total amount of money in the bag is less than £10 1 mark

20 ¢

12x10p = £1:20 AL

\.
1x 20p = £1-40 ll_(-
£t : -

r g
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£,3 ‘60

d x £ :

1 mark for

any two of 1 mark

these
£4a-60 ¢ €10
3)
(Total for Question 7 is 5 marks) s
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8 The diagram shows two sides of a kite.

//

1 mark

N

(a) On the grid, complete the kite.
(1)

(b) What is the mathematical name of this solid shape?

1 mark ... winder. ...
1

(Total for Question 8 is 2 marks)
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9 Greg is x years old.

e
&

o
&

e
2
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=
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S

Greg is 5 years older than Katy.
(a) Write down an expression, in terms of x, for Katy’s age.

C K
x xI-5

AN

,A
3
Q
a
8
)
5

—~
p—
~
KL

ML

\S[
RS

Carl is twice as old as Greg.

:

/é/g
/// X

d

\/x\\\/&\&x/// / ;,-/‘*"//\‘~;- 2%%°

(b) Write down an expression, in terms of x, for Carl’s age.

& C
oC Loc 1 mark.... Zx 44444444444444444444444444444444

(c) Solve 4y=12

= b
Jd "% 1 mark

- 5 V=& (1) “““““““““““

(Total for Question 9 is 3 marks)

3L

I I IS

OO

N AT AR o
P 7 6 4 06 2 A 0 6 2 0




e ™

-1 10 (a) Write 23619 to the nearest 1000

L 3000 1 24 1 mark L4000 .
1

(b) Work out an estimate for the value of 5.9 x 98.1

5Q & 6 so bxI00 1 markfor6 or100
Qg8-1 & 1CO = 600 used in a calculation

Final mark 600

(2)

(Total for Question 10 is 3 marks)
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11 (a) Work out e

Fl-

1 mark

()

S -
)

.3
3

. v - SN b ol % 9 ” Q CRRKHKRKARX, X2 = o~ e Yo g Yo% RS REHLHLIERIRLRK
YNOTIWRITEINCTHICAR B30 R R R R IR KKK \] “WR = 'y AR E A SSSESE88E85

3
Final mark ==
2)

2
(b) Work out 3 of 40

: AO +5 =8

vk.‘,;‘r .;; A‘.,/f\j .\.... ’06" D:NOTWH PRI P S IR BRI PN L K %
FA L% S 020! & o, . AL BB AN R AL D AR 3 0202020502 2020 %% 2o Yot totetetetetete AN X AL R XY
e e

(2)
(Total for Question 11 is 4 marks)
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12 Here is part of a train timetable from Liverpool to Birmingham.

Liverpool 0807 0847 0907

Runcorn 0825 0903 0926

Crewe 0853 0922 0955
S————>

Stafford 0911 0951 1014

Wolverhampton | 0930 — 1031

Birmingham 0950 1034 1050

(a) Which train should take the least time to go from Liverpool to Crewe?

You must show how you get your answer. ,_‘ 1 mark for
08687 kaun takes S3-1 = A6 mins any one of
i these
e
12422 = 35S mwins
o08L3 traun tokes N

for all of

&~
0403 l-rwn*OJCes $5-7 = A8 mins these

Jhe 6847 tain tokes Hu leost hme .

Final mark

3)
Rose gets to the station in Wolverhampton at 09 25
She wants to catch the next train to Birmingham.
This train is delayed by 35 minutes.
(b) How many minutes does Rose have to wait for the train?
°
W. 0425 = 06330 hau delgyed vnh l
I0:08 1 mark
e toouts fram QLS onhil 106S
(35+5) = 4O
Final mark  HO
(2)

(Total for Question 12 is 5 marks)
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13 Here is a number machine.

input ——» %<3 ) output
(a) Find the output when the input is 6

bx_3 :lg_'lg"g'-'lo

v
|
oo

1mark bO .
1)
(b) Find the input when the output is —11
— "lLt8=-3
-323= -1\ 1 mark
Final mark .=\ .
(2)

(Total for Question 13 is 3 marks)

: 3 :; : X K J
9

g | FF7RR DO OO A
P 7 6 4 0 2 A @ 9 2 0 Turn over »




14 A road has a length of 1.6 kilometres. ‘ 6 X ‘Ow < ‘ 6@ ")
The road is shown on a map with a scale of 1:20000 1 mark

Work out the length, in centimetres, of this road on the map.

map rood
lemn = 20030 em \OCOMm = Im
=100

8o lem 280 m
x & ¥
&;m 1600 M

1 mark

AAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAA centimetres

(Total for Question 14 is 3 marks)

15 Work out 1.35 x 48 6 L‘-.SO

135
L3

Lo § o
S 00

61 30

1 mark

1 mark for
digits 648

(Total for Question 15 is 3 marks)
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AED and BCD are straight lines.
ED=EC

Show that EC is parallel to 4B.
Give a reason for each stage of your working.

EVC - eCD = 180 -kO < 7O

VN

G R ¢ 2
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/ (Total for Question 16 is 4 marks)
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17 Sam wants to use this recipe to make 15 pancakes.

5 panaakes
ICO -2 = SOg
200:2 = 100§

uo + 2 = 290G

22 = le&

Sam has
200 g flour
250 m/ milk
70 g butter

Seggs

Ingredients for 10 pancakes

100 g flour
200m/ milk
40 g butter
2 eggs

| S pancokes
ICO + SO = 150Og

200-”(!)53%

20 + 4O :608

2 4 | =3%8.$

2 marks for finding the amount needed of all

ingredients for 15 pancakes or

1 mark for the amount needed of one ingredient

Does Sam have enough flour, enough milk, enough butter and enough eggs to make

15 pancakes?

You must show all your working.

Has 206Qg Mour needs 15Q9 v
has 260me melk needs 3COML x

has Qg boHer needs 66@ v

has 5695 needs 3%5‘/

Final mark (WITH supporting figures)

Sam deeo mtfw.eenaﬂ%nm,bo&has

enopgh Ptoor,buﬁe,rand%}as.

(Total for Question 17 is 3 marks)
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18 Here are the heights, in cm, of 12 children.
146 135 142 150 138 149
152 146 137 154 147 144

Show this information in a stem and leaf diagram.

2 marks for fully correct ordered

13158 diagram

[ 2 B
k(6 A &3k Or 1 mark for unordered diagram
1510 2L with at most one humber missing

13 |S* 8
e |2 4 6 €39 ke V3|8 =135
1S 102 4 1 mark

(Total for Question 18 is 3 marks)

19 Find the highest common factor (HCF) of 54 and 120

Sl 'l<>
/  \ 1 mark for
@ 27 4 citherof P
/ \ these C\) é é
@ A
& & £

ﬂ ﬂ‘S&S so HCF =23
[20 Qe 2 x 2 x|3

Final mark &
SPECIAL CASE: 1 mark for an answer of 2 or 3

(Total for Question 19 is 2 marks)
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20 There are only red counters, white counters, blue counters and green counters in a bag.

Chris is going to take at random a counter from the bag.

The table shows the probability that he will take a red counter and the probability that

he will take a white counter.

Colour red white

blue green

Probability 0.3 0.1

Ok | O2

\ —— 7

There are twice as many blue counters as there are green counters in thg)ag.

(a) Work out the probability that Chris will take a blue counter.

O30\ =04
L-0-L 06 1 mark
3”’9'6 1 mark

L - 02
There are 45 red counters in the bag.

(b) Work out the total number of counters in the bag.
0-3 : 45

+3 3

15

x O

130

1 mark

¢

'—-\

Final mark Q-4

Final mark .. ‘60 44444444444444444444444

(2)
(Total for Question 20 is 5 marks)
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21 (a) Complete the table of values for y=x"+x—4 O “+ C) -~

X -3

-2

-1

't

0 1 2

y 2

4

~h "2 lklf*Z’Lf

|z +l -4 2 marks for four correct

-2

A 2

values or
1 mark for two or three
correct values

(2)
(b) On the grid, draw the graph of y =x"+x—4 for values of x from -3 to 2
Jous m{ﬂn mﬁ s@kﬂ
3 agy sghtly
3
-5
2 marks for fully correct graph or
1 mark for plotting at least five points correctly
(2)

(c) Write down the coordinates of the turning point of the graph of y = x” + x — 4 1 mark

o¢c coordanade = -0 S

(Total for Question 21 is 5 marks)

A range will be accepted for the y value based on your graph
. J
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22 There are 280 chocolates in a box.

There are only dark chocolates, milk chocolates and white chocolates.
1
2 of the 280 chocolates are dark chocolates.

The number of milk chocolates : the number of white chocolates = 1:3
The number of white chocolates : the number of dark chocolates = n: 1

(a) Work out the value of .
You must show all your working.

280 D M w
— 1\ __J
1ol 280 e
? 286 - LO

< asb K | = ZA-O

< ko .
1 mark Mm: W ToTAL
P B ke
x60 x 50 QN0
60: 180 1 mark

ﬂbl'-o W :D
180 : MO 1 mark
1o 10
18 : 4
q | Final mark

L-S: | SON:=AS - 49

10 milk chocolates from the box are eaten.

(b) Does this affect your answer to part (a)?
Give a reason for your answer.

1 mark

240k
= 60

L0

AAAAAAAAAAA No, Lecavse the nomberof whte andl

(Total for Question 22 is 6 marks)
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23 Work out 5.7 x 10 + 9.8 x 10°
Give your answer in standard form.
2 .
5‘11 lO - 5‘«]01\ 1 mark for either
f th
qQgx 10> - A80O & 7T
&6 970 +
10
103 . 1-027 IO
1 mark
Final mark V*O3 "‘oq' ........................
(Total for Question 23 is 3 marks)
i )
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24 AB, BC, CD and DE are four sides of a regular polygon with 7 sides.

BCX is an equilateral triangle.
CDYX is a square. Lx t&r 1of
Work out the value of n. = ‘ 80 - ‘ s

You must show all your working.

=12

1 mark

0 ml;a\oro,nale

= 8Ot 40

le 1 mark

1 mark

so nuombey ofsides n = 3EO =3O

Final mark

K |
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(Total for Question 24 is 4 marks)
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25 The straight line L is shown on the grid.

=
ar

nﬂharl/ far
Ha KO

& of these ‘

M

Cs
>
3|

N 6(0,‘;&_0_ 3 e y

o

Find an equation for L.

UL
AN cin %m%
& _ -3
- =~
AN &
N\
N\
"(r >
1 2 3 4 X

Give your answer in the form y =mx + ¢

vS ma Q‘j{ad ient

2'31‘,+C 1 mark
J %

Final mark

(Total for Question 25 is 3 marks)

Turn over for Question 26

J
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well) o)

Work out 2¢ + 3d
Give your answer as a column vector.

»2(2)+3(3)

1 mark for either of these

(:: C: ) ' f’3 : :Bu:og

Final mark 20

(Total for Question 26 is 2 marks)

TOTAL FOR PAPER IS 80 MARKS
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